Consider the hyperbola which passes through the point (7, —8), with vertices (4, —5) and (4, 1) . SCORE: /8 PTS

[a] Find the standard form of the equation of the hyperbola.
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[b] Find the slope-point form of the equation of the asymptotes.
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Fill in the blanks. @ SCORE: /3 PTS
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[a)] The shape of the graph of 9x* +6x =5y +8y —10 =0 is a/an HY PEr20LA
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[b] The shape of the graph of 7x* +7x—11y +13 =0 is a/an rﬂPﬁP\ (25 @OLA : :f\/

Fill in the blanks using the graph on the right. @ SCORE: /4 PTS
(a] The polar co-ordinates (=3, %) refers to point E \ .
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(b] The polar co-ordinates (3, —4&) refers to point L~
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[c] The polar co-ordinates (=3, % ) refers to point G.
or ~F




Convert the polar equat:on r* =sin 26 into rectangulal form. SCORE;: /6 PTS
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Convert the rectangular coordinates (2\/_ , — 6) into polar coordinates. SCORE;: /3 PTS
Write your final answer in proper notation.
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Test the polar equation » =1—28in @ for symmetry with respect to the polar axis. SCORE: /6 PTS
State your conclusion clearly.
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Convert the rectangular equation 2x — 3y + 4 = ( into polar form. SCORE: /5 PTS

Remember to solve for ¥,
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